
Means Extra Practice - Solutions 

 

AP 2005B 

(a) . 

 

 

 

 

 

 

 

(b) Yes there is sufficient evidence because zero (suggesting no difference) is not contained 
in the interval. 

 

AP 2009 

(a)  

 

 

 

 

 

 

 

 

 

(b) No. Zero is contained in the interval, suggesting the mean difference could be 0 minutes. 

 

 

 

 

 

 

 

 

 

 

 



AP 2011 

μdrug - μplacebo = true mean difference in cholesterol (mg/dL) 

 

Ho: μdrug = μplacebo 

Ha: μdrug > μplacebo 

 

Two Sample t Test 

1. Random  1. Randomly assigned 

2. Sample size  2. 𝑛𝑑 = 𝑛𝑝 = 10 

   Both groups have no outliers. 

   Group A shows slight left skew and Group B shows slight right skew. 

    

According to my sample, I fail to reject Ho with Pval=.062 > α=.05.  

There is no evidence to suggest that the mean cholesterol reduction 

(mg/dL) with the drug is better than the placebo drug. 

 

 

AP 2007 

 
μd = true mean difference in E. coli (millimicrobes/L) detected on beef 

 

Ho: μdrug = 0 

Ha: μdrug ≠ 0 

Matched Pair t Test 

3. Random  1. Randomly assigned 

4. Sample size  2. 𝑛 = 10 

   The data is approx. symmetric w/ no outliers. 

   Group A shows slight left skew and Group B shows slight right skew. 

    

According to my sample, I fail to reject Ho with Pval=0.179 > α=.05.  

There is no evidence to suggest that the mean difference of E. coli 

bacteria detected on meat is different from 0 millimicrobes/L). 
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